
AP-970 

B.A. (Part—I) Examination 

(Modern Indian Language) 

PALI AND PRAKRIT 

(Compulsory) 

Time : Three Hours] 	 [Maximum Marks : 100 

Note :—Answer the questions in the medium offered. 

179:FITV 	 

Tlq9-r 	 TrraFr   fMt7 

1. (A) Translate any ONE :— 	 10 

uicqi 

-crT.  TT 311114 
	

:- 

(1) 3l4th Hoi-let)P-14 t1P-Pfaccil t11-; 311 -1 ti-11117M-

3111171PcF9-- 	 aft# 

m--lt-q 	-c1T-LiqIN t-IR -1 ,11-0c11 L!,1-; #1-6-  

Th-ftl I 1TFRTIft 	 31T9 -  9-Fr 4-1-6 1•11•1.  

31-Ct I cid-) tictu I u I I ft-Tr4;7-  171t# 

‘1,11.ft 	1 ,511 1-1001R1, 

'U21T 	 a z4 	t 3r* 79- .111 

.114-1 9R".21-  13ToitdR9- 	 azzt I 

37-67TftEr 	1 ,511 I c.ut. -4-e.,3f0- 	Q,ch <1 ■11e.4514 

o c-mg7ict,  7r9rurt fis Trot Tryi 3TT-o'w:RTI-r 

	

`3T4 	 31-  

OR/3m-4T/ R. 	a 
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(2) t-  Jtonoz -,61:1Tf 	f Ncit-d'r 

TN* &-c1 44-1 4it,Nc.41 thRticiciAq %-1 ,5,  

Ltrerit tioatILI 

	

--1c141-1P-d I 31-1i-acw. 	cer-fl 	itTf 

	 Tr-Tar- 	LlItit14 	 do 

Trol    	

	

kooiN 	-aci-rFq r 

it-cal 

Tf dT ti 	td ti*J- I 	Tar ti 	ail W 

3-;--9-Fos I Tr 1-1). 4-1 tu l 

3T2r-<-ff TOR-4 alccil 	 TETtITIT6 I 

-4V #1--6-Ri 9--R-d 9-  aptik,  

ti)O -c1 4-49' -q-Pt 9-4it ‘i-rPi)- 't 

	

(B) Translate any ONE :— 	 10 

chlutc-Litgl -crwr* iTrIsird7 (t)i 

arlciN 

(1) GilNtia 3TIV t!,ct; 3 	1-11-ct)LboNias 	 

`TF49-rf9-  37-6-* i--4-Errf i I 7--rIt:f 

	

3 -sv4t   # T4-4 TRTItr 316 

111I11 44) 	I ‘ 7 	-cr-c-4 *t- 	sTe 

TRTrftr'tI 	a 31-r-4-rzr  

5. (A) Write the Grammar in the following "fti-t4T1":— 

10 

7r-er-o- 	-QT6Tr--4t cqIchTulio ,-Ict) 	

7T -41. 	cLI I ch TuT 

— 31-4.4,111 

(2) — "ctqlft -ftilf4TE — 31-441c1T-1-1 

(3) citil — -101 ftiTNTE — 	 

(4) Tit — 	I I f 	— 	citio 	

(5) —a -fti-Tr4T — 31-4 

	

(B) Write the Grammar in the following :— 	10 

KaTTA-0-  -91-6411t cqleMul 	 f6T 

1TF-4): colic Ul FOTET 	 

(1) — ct 4-11-1.111c6 — V:111 ti 	— 46 4-1 -Visf I 

(2) LI o — 	— 4401 -1 — 	pEr 

(3) — 	 )1-`1-1  — LIOH Vlsr I 

(4) — acf4-iI icrico — 	— 	u 	T i 

(5) " 	 — Tfdt4:1' a Er 
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2 	 (Contd.) 
	 UWO '12481 
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4. (A) Write the teaching of "afauM Or" . 	10 

'ram kft"t 5-r--acrr -ftvla 	 

"ifthrwr Or"   ftTR i'rrA71 

oRiamar/ftar 

Write the teaching given in "4 -- r 11
. 

Trt.tH DIcrqui ciu 

"'tea" 4 %et err au 9 - 	i 

(B) Write explanatory notes on any TWO :— 	10 

	uict ► 	6 	c( 	  ftrn- 

fi t -ER k•r, 	 f4Z-17 

(1) 

(2) f4.-ru-r 

(3) Tit t 31-4 tl cal 

(4) 34 3T13-dirrT 4-11 4  

(5) 

(6) ftltd7q-- 

uwo-42481 	 6 

3p-rmit 	cci 

\3 V-0 i cK 	tfiNcci ►  

	

"C.119 7Z -r171 	tth, f Tr4i 30t, 

ar-d''fir 34.  a -4-4-1# (11 Lb 	1q 

	

# 	11- T 79-  9T-4- 1 -  lcal 

Triql 31-44 I 

3T Olt 3iTkft, 	iTitt 

Trrrq LIR w:1, 	J-R6 

Trutt au 	, r r 

qg#R, ciRrAcilik  	ati-Fge=o- 

owar,-TarrWr 

	

(2) 3T2T tal 11-Trar 31M-09.  -q-rft-* 	 

f -q% 

	

3i---(fq   14-17,1-1-Twd 

i‘ ct) a 	a F4Tar9, 

TITIZTRI" 3i4 3ilat, TP:Ft, ITYdT1)-  3ITTFoUlt 

r ITb- 

Livrci) ci 	t  LP-4"i; 3if4  

tat 31-RT9 a?rd-O. , 	3Tr-#t;(-1-RTi 

frt. -ft(Tr-di' 	I am /RR 	61 ITTrar 40zoihiL► t 

	 U2TT 

9-RT14--taqtict Rl chict-oq t1uoi, 
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2. (A) Translate any TWO of the following :— 	10 

(clici1 	dW)     Tr[2.11- 	iTrurf-d-T 

A-  r+7t 	Trr21I-31'E 	3T-tcl14 

(1) m:fr  	VI.  mfr  

	

3Tf91ThI .50-rar 317,(k1i 	 I I 

(2) 3ft, --4-rf:4 aR5 -q-r610- 

f GTc 	 tr Th6 

(3)

(1609it.  

IF-)q#6-  1-fl)• 	 tiT1)11 qTrr I I 

(4) 1. k*1 ,3-1/4ri 41t114cI f*dthii rlf f,act,  

	 f4ftti qvi 31-tu1 -er 	tr-Rff .  

(B) Translate any TWO of the following Gatha's 

10 

	 Quioigl• 	Trrtit 	9.-TrErrd7 

f4T9foltrff 	-1--ef 	Tri2Tr31 
	

317,c114 

.#1-rA7 

(1) "ter iii uiTd 	 34.1-011(-0 

Trt 	4)c{ d 	yt 1 I 

(2) upwr 	 .41d on kviOcit 

artit 30-d-11- 	T-11.  Trrt thq16-114  

(3) 40s1 1-11 1-1k4 31M—Ort ct) .1(1k4 344 1- 1ql I 

t1NrILIRLI)W-1-1, 	 thti4 

(4) Li 1iiq 4-11 - 	i ii-T4f4-11 ■3-1 -11 1 

	

3113:11:1T4-5- #t1T-41 t1-4 -4Z,3 	rquit I I 

3. (A) Write the summary of "Gil , 	 10 

"61 411 Q1lcich111" 4R11 

vildcb" 	4RP1 	 I 1 

OR/w4-40*-4-r 

Write the summary of "1-46 -ci 1-4-1 ,311(lch''. 

"4161 14-1 ‘111c-14)111" 4Riql it 6T. 

"4I6T-1 14 1 	 .1-)r.  t1 I& I 	I fAtl- 

(B) Write the importance of vilcich in Pali-Literature. 

10 

1-11 	ctlIcl ,3ildchld 	T4 clef. 

trqr TrritTzr- 	 1:16?4 foR17 

0 R/3p--1-4-r/fEaT 

Describe the `‘TrIt9-  

How-v1pm) - 	ciu 9-  co(t. 

"9-74k9-  Thr-0-4k4 46 1-R-1 1-11 1 1 1-1)" 	(Pk 41f4g I 
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